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—.Find the general solution of the following equation

2y

X

(D y'=

(7%) () x*y+2xy=x-1

&%)

., _..Find the general solution of the following equation (10%)

X’ y'+xy'+y = Inx (x >0)

=.Given the following integral equation. Find F(t) (10%)

fit)=e" -2 J: cos(t - w)f(u)du

PY.Given the oscillation system, if m=1 ¢=0 k=25

t~1 ..... 0<t<l 0) = A0 =0
it = Oueeeeee t>1 yO) =30 =

(1) Find the governing differential equation

of the system. (5%)

(2) Find the oscillation equation y(t). (10%)

0

11. Find the eigenvalues and eigenvectors of the following matrix

30 0 - 20
0 20 0
- 20 0 0

7. Letf(x,y,z)=x2 + y2 + 77,

(a) Find the gradient of function f(x, y, z), grad f or \/f

(b) Find the divergence of grad f
(c) Find the curl of grad f

(23%)

(12%)

2 .
1. Using Green’s theorem, evaluate §C [(x —cosh y}ix + (y +smx )dy]

counterclockwise around the boundary curve C of the region R, where C is the
boundary of the rectangle : 0 <x<7w, 0<y <1

(15%)




